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Reasoning Mega Quiz for SSC CGL – Advanced Level (Solutions) 
 

S1. Ans.(a) 

Sol. Brays is the activity of Donkey. so, chatters is related to Monkey. 

 

S2. Ans.(a) 

Sol. ABDE : FGIJ → there is continous 2-letters but a single letter gap then again 2-continuous letter after 

that same sequence formed. 

So, IJLM : NOQR 

 

S3. Ans.(d) 

Sol. 13 : 23 : 33 : 43, so 27 is correct  

 

S4. Ans.(d) 

Sol. Driving is different from others. It is related to earth not water activity. 

 

S5. Ans.(d) 

Sol. VDZC is different because R – T & F – G 

 

S6. Ans.(b) 

Sol. The sum of 6 + 3 + 3 = 12 so, other one have Correct sequence is - sum = 11 

 

S7. Ans.(a) 

Sol. Dwell → Dwindle → Dye → Dyke 

 

S8. Ans.(b) 

Sol. The difference between the letter is 4. So, NRV is correct option 

 

S9. Ans.(d) 

Sol. 28 + 3 = 31 & 36 + 3 = 39 

33 + 3 = 36 so, wrong no. is 29. 

 

S10. Ans.(b) 

Sol.  

 
So, the age of Rakhi, 2 years earlier = 34 year 
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S11. Ans.(a) 

Sol. The days between both dates 25 june to 15 Aug. 

Total days = 51 days 

So, 
51

7
= 49 & 2 days after wednesday 

means Friday is correct answer  

 

S12. Ans.(d) 

Sol. MANIA is correct ans 

 

S13. Ans.(b) 

Sol. The difference between letters are +1, +2, +1, +2, ..... 

so, CHILDREN → DJJNETFP 

 

S14. Ans.(d) 

Sol. 17 + 17 = 2895 

means (17)2 = 289 5 → Additional digit 

So, (23)2 = 529 5  

 

S15. Ans.(c) 

Sol. Option (c) 5 × 3 + 25 – 20 ÷ 20 = 39 

40 – 1 = 39 

 

S16. Ans.(c) 

Sol. 13, 23, 33 & 43, 53, 63 and 73, 83 & 93  

So, 83 = 512 is correct answer 

 

S17. Ans.(c) 

Sol.  

 
→ that is the triplet of 9, 12 & 15 

 

S18. Ans.(d) 

Sol. Neither assumption I nor II is correct 

 

S19. Ans.(d) 

Sol. The no. of square in figure = 30 
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S20. Ans.(c) 

Sol. The common letters between singer and actor is c and e, but in 

options only c is given. 

 

S21. Ans.(d) 

S22. Ans.(b) 

S23. Ans.(c) 

S24. Ans.(c) 

 

S25. Ans.(b) 

Sol. Satisfied the word NILE. 
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